FUNCTION MACHINES
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(a) Work out the output when the input is 4

a
(b) Work out the input when the output is 11

@

(@) Show that there is a value of the input for which the input and the output have the
same value.

@

(Total for Question 7 is 5 marks)
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10 (a)

10 (b)

Here is a number machine.

Input Output
4 49
‘Work out the output when the input is 16
11 mark]
Answer
Here is a different number machine.
Input Output
+6 +2
Work out the output when the input is 48
11 mark]
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10 (c)

Complete this number machine.

Input

Output

-10

Q/ .

11 mark]
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11 (a)  Complete the number machine.

Input

Output

x5

11 (b)  Write down the output  in terms of x.

Input

Answer

+4

5a+10

11 mark]

Output

11 mark]
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8 (3 Complete the number machine sothat g =7r-2

Input Output

[2marks)

8 (B)  Write down the output y in terms of x.

Input Output

+5 x3

[1 mark]
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7 Here is a number machine.

Input Output

7(a)  Work out the output when the input is 4

11 mark]

7(b)  Work out the output when the inputis —4
11 mark]
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7 (a) Alanislooking at number machine problems.

3D

He says,

“If L know y | can work out x.
I'sublract 3 then | add 5.

Does this method work?

Give a reason for your answer.
11 mark]

O+

He says,
“If  know d | can work out .
Idivide by 3, then sublract 5.

Does this method work?

Give a reason for your answer.
11 mark]
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18 Here are two number machines, A and B.

* O

-

+2

)

Both machines have the same input.

Work out the input that makes

the output of A three times the output of B..

[4 marks]
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It A sequence of pattems uses grey squares and white squares.
Here are the first four patterns.

Pattern 1 Patiem 2 Pattern 3

Patiem 4.

11 (a) Work out the total number of squares in Patter 100

13 marks]

Answer




image15.png
11 (b) Complete this number machine for the sequence of patterns.
[1 mark]

Number of Number of
grey squares x + ‘white squares
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12 The diagram shows a number machine.

input ——» x2 — -3 — output

(a) Find the output when the input is 7

m
(b) Find the input when the output is 41

@

(Total for Question 12 is 3 marks)
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10 Here is a number machine.

) output

input x5

(a) Work out the output when the input is 8

(b) Work out the input when the output is 28

2)

(Total for Question 10 is 3 marks)
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6

Here is a function machine.

i ——{ <5 > 3 >—>oumt

(a) () Find the output when the inputis 7.

(@) m

(i) Find the input when the output is 42

(i) @2
(b) The inputis x and the output s y.

Write an equation for y in terms of x.

(b) 2
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Here is a function.
The input is x and the output is y.

+9

Write an algebraic expression for y in terms x.

-y

@2
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8 This s arule to find the time,

minutes, needed to roast lamb.

weight,
in pounds.

time,

— > i in minutes

{a) Use the rle to work out the time needed to roast a piece of lamb which weighs 4 pounds.

(@ minutes [2]

(6) Adiferent piece of famb takes 95 minutes to roast,

Use the rule to work out the weight of this piece of lamb.

() pounds [2]




